

$$\|x\| = \sqrt{\langle x, x \rangle}$$

$$\|x\| = 0 \Leftrightarrow \langle x, x \rangle = 0 \Leftrightarrow x = 0$$

$$x \neq 0 \Rightarrow \langle x, x \rangle > 0$$

$$\begin{aligned} \|cx\| &= \sqrt{\langle cx, cx \rangle} = \sqrt{c \langle x, cx \rangle} = \\ &= \sqrt{c^2 \langle x, x \rangle} = |c| \sqrt{\langle x, x \rangle} = |c| \|x\| \end{aligned}$$

$$\|x + y\| \leq \|x\| + \|y\| \quad (*)^2$$

$$\langle x + y, x + y \rangle = \langle x, x \rangle + \langle x, y \rangle$$

$$+ \langle y, x \rangle + \langle y, y \rangle = \|x\|^2 + 2\langle x, y \rangle$$

$$+ \|y\|^2$$

$$(\|x\| + \|y\|)^2 = \|x\|^2 + 2\|x\|\|y\| + \|y\|^2$$

~~C.B.S.~~

$$\|x + y\|^2 = \|x\|^2 + 2 \underbrace{\langle x, y \rangle}_{\cos \alpha} + \|y\|^2 =$$

$$\cos \alpha = \frac{\langle x, y \rangle}{\|x\| \|y\|} \quad \begin{array}{l} x \neq 0 \\ y \neq 0 \end{array}$$

$$= \|x\|^2 + 2 \cos \alpha \|x\| \|y\| + \|y\|^2$$

$$\underline{\cos \alpha = 0} \quad \text{P.V.}$$

$$\|x + y\|^2 = \|x\|^2 + 2\langle x, y \rangle + \|y\|^2$$

$$\|x - y\|^2 = \|x\|^2 - 2\langle x, y \rangle + \|y\|^2$$

+

$$\|x + y\|^2 + \|x - y\|^2 = 2(\|x\|^2 + \|y\|^2)$$

$$\|x\| = \|y\|$$

$$\langle x + y, x + y \rangle = \langle x, x \rangle + \langle x, y \rangle + \langle y, x \rangle + \langle y, y \rangle$$

$$\langle x - y, x - y \rangle = \langle x, x \rangle - \langle x, y \rangle - \langle y, x \rangle + \langle y, y \rangle$$

$$\left\langle u_1, \sum_{i=1}^R \alpha_i w_i \right\rangle = \sum_{i=1}^R \alpha_i \left\langle u_1, w_i \right\rangle = \underline{\underline{0}}$$

$$\sum_{j=1}^R \alpha_j u_j = 0 \implies \alpha_1 = \dots = \alpha_R = 0$$

$$\left\langle \sum_{j=1}^R \alpha_j u_j, u_1 \right\rangle = 0 = \langle 0, u_1 \rangle$$

$$\sum_{j=1}^k \alpha_j \langle u_j, u_1 \rangle = 0$$

$j \neq 1$

$$\alpha_j \langle u_j, u_1 \rangle = 0$$

$\alpha_j = 0$

$$R=1 \quad [u_1] = [e_1] \quad e_1 = u_1$$

$$[u_1, \dots, u_{R-1}] = [e_1, \dots, e_{R-1}]$$

$$[u_1, \dots, u_{R-1}, u_R] = [e_1, \dots, e_R]$$

$$u_R = \sum_{j=1}^{R-1} h_j e_j + u_R \quad | e_i$$

$$\langle u_R, e_i \rangle = h_i \langle e_i, e_i \rangle + \langle u_R, e_i \rangle$$

$$u_1 = (0, 1, 2, 1), \quad u_2 = (-1, 1, 1, 1), \quad u_3 = (1, 0, 1, 0)$$

$$e_1 = u_1$$

$$e_2 = \lambda_1 e_1 + u_2 \quad | \quad e_1 \quad \lambda_1 = -\frac{2}{3}$$

$$0 = \lambda_1 \langle e_1, e_1 \rangle + \langle u_2, e_1 \rangle$$

$$\langle e_1, e_1 \rangle = 0 + 1 \cdot 1 + 4 + 1 \cdot 1 = 6$$

$$\langle u_2, e_1 \rangle = 0 \cdot \cancel{1} + \underline{1 \cdot 1} + \underline{2 \cdot 1} + \underline{1 \cdot 1} = \underline{\underline{4}}$$

$$e_2 = -\frac{2}{3} (0, 1, 2, 1) + (-1, 1, 1, 1) = \left(-1, \frac{1}{3}, -\frac{1}{3}, \frac{1}{3}\right)$$

$$e_1 = (0, 1, 2, 1), \quad e_2 = \left(-1, \frac{1}{3}, -\frac{1}{3}, \frac{1}{3}\right)$$

$$e_3 = h_1 e_1 + h_2 e_2 + (1, 0, 1, 0) \quad | e_1$$

$$0 = h_1 \langle e_1, e_1 \rangle + 0 + \langle (1, 0, 1, 0), (0, 1, 2, 1) \rangle$$

$$0 = 6 h_1 + 2 \quad h_1 = -\frac{1}{3} \quad | e_2$$

$$0 = 0 + h_2 \langle e_2, e_2 \rangle + \langle (1, 0, 1, 0), e_2 \rangle$$

$$0 = h_2 \left(1 + \frac{1}{9} + \frac{1}{9} + \frac{1}{9} \right) + \left(-\frac{4}{3} \right)$$

$$\frac{0}{\frac{4}{3}} = \frac{h_2}{1} \quad h_2 = 1$$

$$h_1 = -\frac{1}{3}, \quad h_2 = 1$$

$$e_3 = (1, 0, 1, 0) - \frac{1}{3}(0, 1, 2, 1) +$$
$$+ 1\left(-1, \frac{1}{3}, -\frac{1}{3}, \frac{1}{3}\right) =$$

$$= (0, 0, 0, 0)$$

$$[u_1, u_2, u_3] = \underline{\underline{[e_1, e_2]}}$$

$$x \in W, y \in W^\perp, c, d \in \mathbb{R}$$

$$\stackrel{?}{\Rightarrow} cx + dy \in W^\perp$$

$$x \in W^\perp \Leftrightarrow \begin{cases} c \langle x, w \rangle = 0 \\ d \langle y, w \rangle = 0 \end{cases} \quad \forall w \in W$$

$$\frac{\langle cx + dy, w \rangle = 0}{\in W^\perp}$$

W n-dim.

$$W \oplus W^\perp = V$$

W_1, \dots, W_k ~~is orthogonal~~ W

$$W \oplus W^\perp \subseteq V$$



$$\textcircled{\oplus} \quad \dim_{\mathbb{R}} W + \dim_{\mathbb{R}} W^{\perp} = \dim (W \oplus W^{\perp}) \leq n$$

$$\mathbb{R} \quad n - \mathbb{R} \leq \quad \quad \quad \begin{matrix} \cong \\ \mathbb{R} \end{matrix}$$

n

$$W \oplus W^{\perp} = \mathbb{V}$$

$$W^{\perp} \oplus W^{\perp} = \mathbb{V}$$

$$W \oplus W^{\perp} = \mathbb{V}$$

$$\dim W = \dim W^{\perp}$$

$$W \subseteq W^{\perp}$$

$$\begin{aligned}
 (W + S)^\perp &= W^\perp \cap S^\perp \\
 x \in (W + S)^\perp &\iff x \in W^\perp \text{ and } x \in S^\perp \\
 \langle x, w \rangle &= 0 \iff \langle x, w \rangle = 0, \langle x, s \rangle = 0 \\
 \underbrace{\langle x, w \rangle = 0}_{x \in W^\perp} \text{ and } \underbrace{\langle x, s \rangle = 0}_{x \in S^\perp} &\iff x \in W^\perp \cap S^\perp
 \end{aligned}$$

$$\begin{aligned} (W \cap S)^T &= (W^T + S^T)^T \\ W \cap S &= (W^T + S^T)^T = W^T \cap S^T \\ &= W \cap S \end{aligned}$$
